$12 \times 9 =$

Table de 12

$$5 \times 12 =$$
 $9 \times 12 =$ $1 \times 12 =$ $3 \times 12 =$ $7 \times 12 =$ $12 \times 0 =$ $12 \times 8 =$ $12 \times 9 =$ $12 \times 7 =$ $12 \times 6 =$ $12 \times 6 =$ $12 \times 11 =$ $7 \times 12 =$ $12 \times 12 =$ $12 \times 8 =$ $7 \times 12 =$ $12 \times 12 =$ $12 \times 8 =$ $12 \times 12 =$ $12 \times 11 =$ $12 \times 9 =$ $12 \times 6 =$ $12 \times 12 =$

 $12 \times 12 =$

 $12 \times 7 =$

Table de 12

 $12 \times 3 =$

12 × 7 =	12 × 12 =	2 × 12 =	12 × 5 =	12 × 12 =
12 × 5 =	12 × 6 =	12 × 5 =	9 × 12 =	12 × 4 =
11 × 12 =	7 × 12 =	11 × 12 =	12 × 11 =	5 × 12 =
12 × 8 =	4 × 12 =	12 × 8 =	4 × 12 =	3 × 12 =
9 × 12 =	12 × 5 =	6 × 12 =	12 × 9 =	12 × 7 =
2 × 12 =	6 × 12 =	4 × 12 =	12 × 3 =	0 × 12 =
12 × 3 =	12 × 4 =	12 × 11 =	6 × 12 =	12 × 5 =
6 × 12 =	8 × 12 =	5 × 12 =	8 × 12 =	4 × 12 =
4 × 12 =	10 × 12 =	12 × 2 =	12 × 6 =	9 × 12 =
12 × 9 =	12 × 2 =	12 × 12 =	7 × 12 =	12 × 11 =

				Tab	le de	e 12			
5 × 12 =	60	9 × 12 =	108	1 × 12 =	12	3 × 12 =	36	7 × 12 = 8	34
12 × 0 =	0	12 × 8 =	96	12 × 9 =	108	12 × 7 =	84	12 × 6 = 7	72
12 × 6 =	72	12 × 11 =	132	7 × 12 =	84	12 × 12 =	144	12 × 8 = 9	96
7 × 12 =	84	3 × 12 =	36	12 × 4 =	48	2 × 12 =	24	6 × 12 = 7	72
8 × 12 =	96	2 × 12 =	24	8 × 12 =	96	12 × 8 =	96	11 × 12 = 1	32
12 × 11 =	132	12 × 9 =	108	12 × 6 =	72	5 × 12 =	60	12 × 3 = 3	36
12 × 4 =	48	11 × 12 =	132	12 × 7 =	84	12 × 10 =	120	12 × 2 = 2	24
3 × 12 =	36	12 × 3 =	36	3 × 12 =	36	12 × 2 =	24	8 × 12 = 9	96
12 × 2 =	24	5 × 12 =	60	9 × 12 =	108	11 × 12 =	132	2 × 12 = 2	24
12 × 12 =	144	12 × 7 =	84	12 × 3 =	36	12 × 4 =	48	12 × 9 = 1	08

				Tab	le de	: 12		
12 × 7 =	84	12 × 12 =	144	2 × 12 =	24	12 × 5 =	60	12 × 12 = 144
12 × 5 =	60	12 × 6 =	72	12 × 5 =	60	9 × 12 =	108	12 × 4 = 48
11 × 12 = 1	L32	7 × 12 =	84	11 × 12 =	132	12 × 11 =	132	5 × 12 = 60
12 × 8 =	96	4 × 12 =	48	12 × 8 =	96	4 × 12 =	48	3 × 12 = 36
9 × 12 = 1	108	12 × 5 =	60	6 × 12 =	72	12 × 9 =	108	12 × 7 = 84
2 × 12 =	24	6 × 12 =	72	4 × 12 =	48	12 × 3 =	36	0 × 12 = 0
12 × 3 =	36	12 × 4 =	48	12 × 11 =	132	6 × 12 =	72	12 × 5 = 60
6 × 12 =	72	8 × 12 =	96	5 × 12 =	60	8 × 12 =	96	4 × 12 = 48
4 × 12 =	48	10 × 12 =	120	12 × 2 =	24	12 × 6 =	72	9 × 12 = 108
12 × 9 = 1	L08	12 × 2 =	24	12 × 12 =	144	7 × 12 =	84	12 × 11 = 132

$$7 \times 12 =$$
 $12 \times 12 =$ $9 \times 12 =$ $11 \times 12 =$ $0 \times 12 =$ $12 \times 9 =$ $9 \times 12 =$ $12 \times 8 =$ $12 \times 4 =$ $5 \times 12 =$ $1 \times 12 =$ $12 \times 0 =$ $2 \times 12 =$ $8 \times 12 =$ $12 \times 9 =$ $12 \times 3 =$ $8 \times 12 =$ $12 \times 7 =$ $12 \times 7 =$ $12 \times 4 =$ $12 \times 7 =$ $12 \times 9 =$ $12 \times 12 =$ $12 \times$

12 × 2 =	12 × 8 =	4 × 12 =	12 × 9 =	12 × 2 =
9 × 12 =	12 × 7 =	12 × 3 =	2 × 12 =	12 × 8 =
3 × 12 =	2 × 12 =	8 × 12 =	5 × 12 =	7 × 12 =
12 × 8 =	12 × 5 =	6 × 12 =	12 × 2 =	12 × 5 =
12 × 6 =	6 × 12 =	12 × 5 =	9 × 12 =	4 × 12 =
8 × 12 =	12 × 4 =	12 × 11 =	12 × 12 =	3 × 12 =
6 × 12 =	11 × 12 =	7 × 12 =	12 × 6 =	12 × 4 =
12 × 5 =	4 × 12 =	12 × 4 =	3 × 12 =	11 × 12 =
12 × 12 =	12 × 11 =	11 × 12 =	12 × 8 =	12 × 6 =
12 × 11 =	12 × 3 =	12 × 6 =	7 × 12 =	2 × 12 =

				Tak	ole de	e 12		
7 × 12 =	84	12 × 12 =	144	9 × 12 =	108	11 × 12 =	132	0 × 12 = 0
12 × 9 =	108	9 × 12 =	108	12 × 8 =	96	12 × 4 =	48	5 × 12 = 60
1 × 12 =	12	12 × 0 =	0	2 × 12 =	24	8 × 12 =	96	12 × 9 = 108
12 × 3 =	36	8 × 12 =	96	12 × 7 =	84	12 × 5 =	60	12 × 7 = 84
12 × 4 =	48	5 × 12 =	60	12 × 9 =	108	6 × 12 =	72	9 × 12 = 108
11 × 12 =	132	12 × 9 =	108	10 × 12 =	120	12 × 1 =	12	12 × 3 = 36
5 × 12 =	60	12 × 2 =	24	3 × 12 =	36	12 × 11 =	132	8 × 12 = 96
12 × 7 =	84	3 × 12 =	36	12 × 2 =	24	4 × 12 =	48	12 × 12 = 144
4 × 12 =	48	7 × 12 =	84	12 × 12 =	144	12 × 3 =	36	12 × 11 = 132
2 × 12 =	24	12 × 6 =	72	5 × 12 =	60	12 × 7 =	84	6 × 12 = 72

				Tab	le de	: 12			
12 × 2 =	24	12 × 8 =	96	4 × 12 =	48	12 × 9 =	108	12 × 2 =	24
9 × 12 =	108	12 × 7 =	84	12 × 3 =	36	2 × 12 =	24	12 × 8 =	96
3 × 12 =	36	2 × 12 =	24	8 × 12 =	96	5 × 12 =	60	7 × 12 =	84
12 × 8 =	96	12 × 5 =	60	6 × 12 =	72	12 × 2 =	24	12 × 5 =	60
12 × 6 =	72	6 × 12 =	72	12 × 5 =	60	9 × 12 =	108	4 × 12 =	48
8 × 12 =	96	12 × 4 =	48	12 × 11 =	132	12 × 12 =	144	3 × 12 =	36
6 × 12 =	72	11 × 12 =	132	7 × 12 =	84	12 × 6 =	72	12 × 4 =	48
12 × 5 =	60	4 × 12 =	48	12 × 4 =	48	3 × 12 =	36	11 × 12 =	132
12 × 12 =	144	12 × 11 =	132	11 × 12 =	132	12 × 8 =	96	12 × 6 =	72
12 × 11 =	132	12 × 3 =	36	12 × 6 =	72	7 × 12 =	84	2 × 12 =	24

$$6 \times 12 =$$
 $12 \times 4 =$ $2 \times 12 =$ $3 \times 12 =$ $12 \times 2 =$ $12 \times 8 =$ $12 \times 11 =$ $3 \times 12 =$ $12 \times 8 =$ $9 \times 12 =$ $5 \times 12 =$ $6 \times 12 =$ $12 \times 11 =$ $2 \times 12 =$ $3 \times 12 =$ $12 \times 3 =$ $12 \times 7 =$ $6 \times 12 =$ $12 \times 7 =$ $12 \times 6 =$ $12 \times 9 =$ $3 \times 12 =$ $0 \times 12 =$ $12 \times 12 =$ $11 \times 12 =$ $12 \times 9 =$ $12 \times 12 =$ $12 \times 12 =$ $11 \times 12 =$ $12 \times 7 =$ $12 \times 12 =$ 12

12 × 11 =	11 × 12 =	12 × 2 =	11 × 12 =	6 × 12 =
4 × 12 =	12 × 9 =	11 × 12 =	12 × 5 =	12 × 12 =
9 × 12 =	4 × 12 =	12 × 4 =	7 × 12 =	5 × 12 =
12 × 5 =	2 × 12 =	9 × 12 =	12 × 3 =	12 × 11 =
7 × 12 =	12 × 3 =	12 × 12 =	12 × 11 =	1 × 12 =
12 × 6 =	12 × 1 =	12 × 9 =	5 × 12 =	12 × 4 =
8 × 12 =	9 × 12 =	7 × 12 =	9 × 12 =	12 × 7 =
12 × 4 =	8 × 12 =	12 × 3 =	12 × 4 =	8 × 12 =
10 × 12 =	12 × 6 =	5 × 12 =	8 × 12 =	12 × 5 =
2 × 12 =	12 × 5 =	4 × 12 =	12 × 9 =	7 × 12 =

				Tab	le de	e 12			
6 × 12 =	72	12 × 4 =	48	2 × 12 =	24	3 × 12 =	36	12 × 2 =	24
12 × 8 =	96	12 × 11 =	132	3 × 12 =	36	12 × 8 =	96	9 × 12 = 1	108
5 × 12 =	60	6 × 12 =	72	12 × 11 =	132	2 × 12 =	24	3 × 12 = 3	36
12 × 3 =	36	12 × 7 =	84	6 × 12 =	72	12 × 7 =	84	12 × 6 =	72
12 × 9 =	108	3 × 12 =	36	0 × 12 =	0	12 × 12 =	144	11 × 12 = 1	.32
3 × 12 =	36	12 × 8 =	96	12 × 7 =	84	12 × 2 =	24	4 × 12 =	48
12 × 7 =	84	12 × 12 =	144	12 × 6 =	72	4 × 12 =	48	12 × 3 =	36
11 × 12 =	132	5 × 12 =	60	8 × 12 =	96	6 × 12 =	72	2 × 12 =	24
12 × 12 =	144	12 × 2 =	24	12 × 5 =	60	12 × 10 =	120	12 × 9 = 1	108
12 × 2 =	24	7 × 12 =	84	12 × 8 =	96	12 × 6 =	72	12 × 8 =	96

				Tab	le de	12			
12 × 11 = 1	L32	11 × 12 =	132	12 × 2 =	24	11 × 12 =	132	6 × 12 =	72
4 × 12 =	48	12 × 9 =	108	11 × 12 =	132	12 × 5 =	60	12 × 12 =	144
9 × 12 = 1	108	4 × 12 =	48	12 × 4 =	48	7 × 12 =	84	5 × 12 =	60
12 × 5 =	60	2 × 12 =	24	9 × 12 =	108	12 × 3 =	36	12 × 11 =	132
7 × 12 =	84	12 × 3 =	36	12 × 12 =	144	12 × 11 =	132	1 × 12 =	12
12 × 6 =	72	12 × 1 =	12	12 × 9 =	108	5 × 12 =	60	12 × 4 =	48
8 × 12 =	96	9 × 12 =	108	7 × 12 =	84	9 × 12 =	108	12 × 7 =	84
12 × 4 =	48	8 × 12 =	96	12 × 3 =	36	12 × 4 =	48	8 × 12 =	96
10 × 12 = 1	L20	12 × 6 =	72	5 × 12 =	60	8 × 12 =	96	12 × 5 =	60
2 × 12 =	24	12 × 5 =	60	4 × 12 =	48	12 × 9 =	108	7 × 12 =	84

$$12 \times 11 =$$
 $3 \times 12 =$ $12 \times 9 =$ $4 \times 12 =$ $12 \times 6 =$ $7 \times 12 =$ $12 \times 6 =$ $6 \times 12 =$ $12 \times 8 =$ $9 \times 12 =$ $5 \times 12 =$ $2 \times 12 =$ $12 \times 7 =$ $12 \times 11 =$ $7 \times 12 =$ $12 \times 8 =$ $8 \times 12 =$ $12 \times 4 =$ $6 \times 12 =$ $12 \times 9 =$ $12 \times 5 =$ $12 \times 3 =$ $11 \times 12 =$ $12 \times 2 =$ $12 \times 11 =$ $12 \times 12 =$ 1

9 × 12 =	11 × 12 =	5 × 12 =	12 × 6 =	5 × 12 =
12 × 12 =	12 × 7 =	12 × 12 =	7 × 12 =	12 × 8 =
6 × 12 =	4 × 12 =	7 × 12 =	9 × 12 =	12 × 2 =
12 × 9 =	12 × 0 =	12 × 2 =	12 × 5 =	3 × 12 =
12 × 3 =	12 × 8 =	3 × 12 =	12 × 4 =	11 × 12 =
11 × 12 =	6 × 12 =	2 × 12 =	5 × 12 =	12 × 4 =
12 × 6 =	12 × 11 =	12 × 3 =	12 × 12 =	12 × 3 =
10 × 12 =	7 × 12 =	12 × 5 =	12 × 7 =	4 × 12 =
12 × 4 =	12 × 5 =	1 × 12 =	3 × 12 =	12 × 12 =
2 × 12 =	12 × 9 =	12 × 8 =	0 × 12 =	8 × 12 =

				Tak	ole de	e 12			
12 × 11 = 1	L32	3 × 12 =	36	12 × 9 =	108	4 × 12 =	48	12 × 6 =	72
7 × 12 = 8	84	12 × 6 =	72	6 × 12 =	72	12 × 8 =	96	9 × 12 = 1	108
5 × 12 =	60	2 × 12 =	24	12 × 7 =	84	12 × 11 =	132	7 × 12 =	84
12 × 8 =	96	8 × 12 =	96	12 × 4 =	48	6 × 12 =	72	12 × 9 = 1	108
12 × 5 =	60	12 × 3 =	36	11 × 12 =	132	12 × 2 =	24	12 × 11 = 1	132
3 × 12 = 3	36	9 × 12 =	108	8 × 12 =	96	12 × 9 =	108	2 × 12 =	24
4 × 12 =	48	12 × 2 =	24	12 × 11 =	132	8 × 12 =	96	12 × 5 =	60
12 × 2 = 2	24	12 × 12 =	144	12 × 6 =	72	12 × 3 =	36	6 × 12 =	72
12 × 7 =	84	5 × 12 =	60	9 × 12 =	108	2 × 12 =	24	12 × 1 =	12
8 × 12 =	96	12 × 4 =	48	4 × 12 =	48	11 × 12 =	132	12 × 7 =	84

				Tab	le de	: 12		
9 × 12 = 1	108	11 × 12 =	132	5 × 12 =	60	12 × 6 =	72	5 × 12 = 60
12 × 12 = 1	L44	12 × 7 =	84	12 × 12 =	144	7 × 12 =	84	12 × 8 = 96
6 × 12 =	72	4 × 12 =	48	7 × 12 =	84	9 × 12 =	108	12 × 2 = 24
12 × 9 = 1	108	12 × 0 =	0	12 × 2 =	24	12 × 5 =	60	3 × 12 = 36
12 × 3 =	36	12 × 8 =	96	3 × 12 =	36	12 × 4 =	48	11 × 12 = 132
11 × 12 = 1	L32	6 × 12 =	72	2 × 12 =	24	5 × 12 =	60	12 × 4 = 48
12 × 6 =	72	12 × 11 =	132	12 × 3 =	36	12 × 12 =	144	12 × 3 = 36
10 × 12 = 1	L20	7 × 12 =	84	12 × 5 =	60	12 × 7 =	84	4 × 12 = 48
12 × 4 =	48	12 × 5 =	60	1 × 12 =	12	3 × 12 =	36	12 × 12 = 144
2 × 12 =	24	12 × 9 =	108	12 × 8 =	96	0 × 12 =	0	8 × 12 = 96

$$2 \times 12 = 0 \times 12 = 2 \times 12 = 4 \times 12 = 11 \times 12 = 12 \times 8 = 12 \times 6 = 12 \times 4 = 8 \times 12 = 2 \times 12 = 12 \times 6 = 6 \times 12 = 12 \times 6 = 12 \times 6 = 6 \times 12 = 12 \times 6 = 12 \times 6 = 6 \times 12 = 12 \times 6 = 12 \times 6 = 6 \times 12 = 12 \times 6 = 12 \times$$

12 × 11 =	12 × 4 =	8 × 12 =	2 × 12 =	12 × 4 =
12 × 9 =	12 × 8 =	12 × 12 =	12 × 5 =	12 × 11 =
6 × 12 =	9 × 12 =	6 × 12 =	3 × 12 =	4 × 12 =
12 × 2 =	12 × 12 =	12 × 11 =	12 × 9 =	12 × 8 =
9 × 12 =	12 × 3 =	9 × 12 =	12 × 8 =	12 × 2 =
12 × 10 =	8 × 12 =	3 × 12 =	5 × 12 =	7 × 12 =
12 × 7 =	12 × 11 =	12 × 6 =	12 × 11 =	9 × 12 =
8 × 12 =	7 × 12 =	12 × 2 =	9 × 12 =	12 × 3 =
12 × 4 =	2 × 12 =	1 × 12 =	12 × 2 =	8 × 12 =
7 × 12 =	12 × 7 =	12 × 5 =	12 × 6 =	12 × 7 =

	Table de 12								
2 × 12 = 2	24	0 × 12 =	0	2 × 12 =	24	4 × 12 =	48	11 × 12 = 132	<u>,</u>
12 × 8 = 9	96	12 × 6 =	72	12 × 4 =	48	8 × 12 =	96	2 × 12 = 24	
12 × 12 = 14	44	5 × 12 =	60	11 × 12 =	132	12 × 0 =	0	12 × 6 = 72	
3 × 12 = 3	86	12 × 2 =	24	12 × 7 =	84	12 × 4 =	48	12 × 12 = 144	ı.
12 × 5 = 6	50	4 × 12 =	48	12 × 9 =	108	6 × 12 =	72	12 × 5 = 60	
4 × 12 = 4	18	12 × 9 =	108	7 × 12 =	84	12 × 7 =	84	6 × 12 = 72	
12 × 6 = 7	72	6 × 12 =	72	12 × 3 =	36	11 × 12 =	132	12 × 1 = 12	
12 × 3 = 3	86	3 × 12 =	36	4 × 12 =	48	12 × 12 =	144	3 × 12 = 36	
11 × 12 = 13	32	12 × 5 =	60	5 × 12 =	60	12 × 3 =	36	5 × 12 = 60	
5 × 12 = 6	60	11 × 12 =	132	12 × 8 =	96	7 × 12 =	84	12 × 9 = 108	3

	Table de 12								
12 × 11 = 13	32	12 × 4 =	48	8 × 12 =	96	2 × 12 =	24	12 × 4 =	48
12 × 9 = 10	08	12 × 8 =	96	12 × 12 =	144	12 × 5 =	60	12 × 11 =	132
6 × 12 = 7	2	9 × 12 =	108	6 × 12 =	72	3 × 12 =	36	4 × 12 =	48
12 × 2 = 2	24	12 × 12 =	144	12 × 11 =	132	12 × 9 =	108	12 × 8 =	96
9 × 12 = 10	08	12 × 3 =	36	9 × 12 =	108	12 × 8 =	96	12 × 2 =	24
12 × 10 = 12	20	8 × 12 =	96	3 × 12 =	36	5 × 12 =	60	7 × 12 =	84
12 × 7 = 8	84	12 × 11 =	132	12 × 6 =	72	12 × 11 =	132	9 × 12 =	108
8 × 12 = 9	6	7 × 12 =	84	12 × 2 =	24	9 × 12 =	108	12 × 3 =	36
12 × 4 = 4	18	2 × 12 =	24	1 × 12 =	12	12 × 2 =	24	8 × 12 =	96
7 × 12 = 8	84	12 × 7 =	84	12 × 5 =	60	12 × 6 =	72	12 × 7 =	84